Question 1.

Harrison Hotels is considering adding a spa to its current facility in order to improve its list of amenities. Operating the spa would require a fixed cost of $25,000 a year. Variable cost is estimated at $35 per customer. The hotel wants to break even if 12,000 customers use the spa facility. What should be the price of the spa services?

	
	$69.52


	[image: image1.png]



	$67.92


	[image: image2.png]



	$35.48
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	$37.08
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	$2.08


Question 2.
Perfect Furniture is a manufacturer of kitchen tables and chairs. The company is currently deciding between two new methods for making kitchen tables. The first process is estimated to have a fixed cost of $80,000 and a variable cost of $75 per unit. The second process is estimated to have a fixed cost of $100,000 and a variable cost of $60 per unit. Graphically plot the total costs for both methods. Identify which ranges of product volume are best for each method. 
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	True
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	False


Question 4.

Downhill Boards, a producer of snowboards, is evaluating a new process for applying the finish to its snowboards. Downhill Boards currently incurs a fixed annual cost of $125,000 and has a variable cost of $0.90 per unit. Annual demand for the snowboards is 160,000. Fast Finish, Inc. has made a technological breakthrough in snowboard finish application. The firm will apply the finish for $0.23 per unit in variable costs plus a fixed annual cost of $230,000. What will it cost Downhill Boards to outsource the finishing process?
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	$272,500
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	$266,800
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	$212,900
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	$269,000
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	$89,700


Question 5.

Downhill Boards, a producer of snowboards, is evaluating a new process for applying the finish to its snowboards. Downhill Boards currently incurs a fixed annual cost of $125,000 and has a variable cost of $0.90 per unit. Annual demand for the snowboards is 160,000. Fast Finish, Inc. has made a technological breakthrough in snowboard finish application. The firm will apply the finish for $0.23 per unit in variable costs plus a fixed annual cost of $230,000. At what demand level does it make sense economically to outsource the finishing process?
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	116,667
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	1,000,000
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	156,716
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	160,000
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	456,522



Question 6.

Gabriela Manufacturing must decide whether to insource or outsource a new toxic-free miracle carpet cleaner that works with its Miracle Carpet Cleaning Machine. If it decides to insource the product, the process would incur $300,000 of annual fixed costs and $1.50 per unit of variable costs. Alternatively, a new supplier would provide the item for $1.80 per unit with an annual fixed cost of $200,000. If the expected demand for the new miracle cleaner is 300,000 units, Gabriela Manufacturing should insource the item.
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	False
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